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Hard
(1) bOdc920d ” MULTIPLE CHOICE “ [One answer only]

A manufacturer determined that right cylindrical containers with a
height that is 4 inches longer than the radius offer the optimal num-
ber of containers to be displayed on a shelf. Which of the following
expresses the volume, V |, in cubic inches, of such containers, where r A 2.()
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(2) 5b2b8866 ” SHORT ANSWER 3 H [Case—lnsensi\ive)/

A rectangular poster has an area of 360 square inches. A copy of the

poster is made in which the length and width of the original poster are

each increased by 20%. What is the area of the copy, in square inches?
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